


-םכסמה דימלתה
יול יאורלא

5/5/23

I
,x&4x

+

x(k - x
:x)(()xa) : 444X And 11k 1152745134168

: x
"

3/17 <198 /N 1612

.

fo = 1 x)k

3 ik Mask 1) & 311 De est ele ik for is e a

"I'e / 205a

:xyx /3))k - /G
"

23k

Ex = E . m .v

- 1127)k(X1/P > N Ifay xix's Pal
>000E *

! 40 fex/fixe Ju 26 Mind y fay) ok *

: xidals( fis) r 6 x x)k - 1x13 x27/1
nax,

"

Ep = Va = m .

g
. h

31x21298'in/3 eymx3xx134 fan xda5160( *

/ 61309 UMN

Px"7)kX-6MM 91xx 196 · Rail i ,
wine a xoge Es *

·X'Nga i'n'x 12

N /) y fayasine(
- xkx() , 9 -y x (xx2))() *

· ex Nat viny Pan jk sil · Tay if 'ai

?X13/90 /N Wiz /" &/K Did

pour-oun eix edi for fissao e-fan 3156) 31

/Na 2xslr

: "

33)k 10 NM

ek indaler xnk 5) Id i-pidf yeah If It'd i
"

x)/(21)

i1y/"27/k/102XyGin"31k Sk 28d 653143(/3)

Esteg



-םכסמה דימלתה
יול יאורלא

:79106 &

m = 2ky

⑪

Vo = 20 mys

8 h = 80m W

h = 100
m

⑤ h = Om

Vz =?
V

> X")k & xxix' - Tha

* E=
. m . V" = 2 . 2 . 20 = 4005

--Ep = m .g . h = 2 .10100 = 2000 j

E += Exp + Epa) = 400 + 2000 = 24005
(1)

* Epc = m .

g . h = 2 . 10 . 80 = 16005

E + , 1)
= E+ (2)

= [x(z) + Ep(z)

2400 = Ex(2) + 1600

HV

Exx) = 800

[m . V = 800

1.2 . Vi = 800

Vizi = 28. 2
mes

Esteg



-םכסמה דימלתה
יול יאורלא

* O

E+ (1)
= E+(2)

= E + (3)
= =(3) +=)

2400 = Ex(3) + O

2400 = E . m . Visi

2400 =*R : Vis

Pan
,

6 -26,
Visi = 48. 98 rlS

.
ONN

:Diana Par ,620 ,< >On

: n"x)1 (4
:

& MN
E+ x)

= E + (3)

Eisen + Epar = E113
2m . Vi + Mig . ha = 2 .M Visi

2 . 202 + 10 . 100 = 2 . Vis = Visi = 48.
98 mys

11 0K .

06K X12T On 1184, c'bad din /ke Ex : edi

M/1 >din idiza /23/k 00h idlar Tod Si XON'Dl'nD
.

Y& exa jak ook idlar

h = Om
/
KvRd) DNS Sk h= Om Nalax pin elied / 15 x

131) & XX1X iS'k*

Esteg



-םכסמה דימלתה
יול יאורלא

:

14 O x"(/k1)/24 /Sind
,
BRBIN To A 12466 :2775131 by ok

3. x11 May it's fair if

Y

Res 4 - 10 - 5 = 200 -

a2 Ep = m .

g . h

B
1

⑳

3
h = im

A m = 4kg

: nx' &x

7/k <N &/ N In my &xD N :)
, 72d Ex <:

37)k xk
is I yo'e your i this jack fan d fel jus ye cade

Iadik/ / gM (11 Al

↑ 1 /k ivn Nig /z/lf 19/0 I .
Frodd If ' seed is

164129173141

Esteg



-םכסמה דימלתה
יול יאורלא

: find

·
(131) /N

veiys te Dawnee y a far, 130 xdi & in
? 2

? Ran D :

2 FON 2013 &S
,
V = 20ms :/x · d

⑳.

M②

U : son

Umin
=?

7

- n = 0m

⑪

K
.

Dis wi Ska or dis Paxe as 1 a old and epad ok

: 00k /Nd 2 /

E
+ (1)

= E+ (2) :1
:

/k 1158 YIN

=kin + Epin = Ekizi + Epcz)

EmVingh=mir+ m.

g
. he

& Vi = 10 . 50

Vmin = 31 . 62 mys

D . E
+ (

= E+ (3)
: x"7/k(160 And

=kin + Epin = Ekisi + Epas)
G

EmVie+ghs"=mir" = m.

g
. his

(3)

andh(x)

E - 20 = 10 . his =) hizi = 20m

Esteg



-םכסמה דימלתה
יול יאורלא

E
+ (1)

= E+ (2)

=kin + Epin = Ekizi + Epcz)

EmVingh=mir+ m.

g
. he

3 The 2000 /32)

Esteg



-םכסמה דימלתה
יול יאורלא

3.
(2)

h= 0 (1)

-4010 +
=

24m Ero
Troni de packa

K
. in"27/17 1/d :

& PINd
E + (1)

= E + x)

O

Ex
,1) pr

= Ekizi + Epca)

Ei( =

Ex 12 +
m

.

g
. ha

↑ Medisizco /sta Kids pr &16) I X & Id > ON
: X /03/12x

h

tan (2) =

X

h = X. tan10)

&
Ei( =

Ex 12 +
m

.

g
. ha

Ek
O

=

Exx +
m

.

g
. X · tan()

Ex(2) = -

Mg tan(c) · X + Eko

y
= m · X + b

0160

Esteg



-םכסמה דימלתה
יול יאורלא

Do

Ex(j)
↑

360-

-340-
320

t &

&

8WitI
&

①

48-

20 -

2 .

.

Rand 0127
.

Ev = 3205 go ofight ca o x N X =

0

a in prijejt zi edit 00 Rand an /k X= 1. 6m XX

A x + + 0(xi)

-Ike 000 el ye Rand 2 . 1 < X (2 . 2 < &1) (36) 28/1
. M Izi / & +& 1 06K ki & /dini

Esteg



-םכסמה דימלתה
Estegיול יאורלא


